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#include <stdio.h>
#include <math.h>
#include <stdlib.h>
#define M 1000
#define L 10000

main()

{
int i,j,p1=0,p2=0,p3=0,p4=0;
double a,b,kai,1=0,k=0,delta;

int j1,11,kai2[101],n;
srand48(76);//0 0000

for(j1=0;3j1<=100;j1++)//00 0000
{
kai2[§11=0;

for(j=0; j<L;j++){//j0 LO0D000
p1=0,p2=0,p3=0,p4=0;
for(i=0; i<M;
i++){//i0MO00000
b = drand48();//0000
if (0.0 <= b &b <= 9.0 /16.0){//9:3:3:1
00oooooooo
pl++;
}
else if (9.0/16.0 < b&&b <= 3.0 /4.0){



0.3

p2++; ) ) ) ) ) —

}
else if (3.0/4.0 < b&&b <= 15.0 /16.0){ °&[
p3++; )
} 02 ‘
else
{ 0.15 [
pa++;
} 0.1
}
0.05 [ ‘/'4
kai = 0 el
2 4 6 8 10 12

((p1-(M*9.0/16.0) ) *(p1-(M*9.0/16.0)))/(M*9.0/16.0)
+((p2-(M*3.0/16.0) ) *(p2-(M*3.0/16.0)) )/ (M*3.0/16.0)
+((p3-(M*3.0/16.0) ) *(p3-(M*3.0/16.0)))/(M*3.0/16.0)
+((p4-(M*1.0/16.0)) *(p4-(M*1.0/16.0)))/(Mx1.0/16.0) ;

gooooooocooooo

0.25

02|

// printf("00 2000 :%1f\n" ,kai);
n=floor (10.0%*kai) ;
// printf("n:%d\n",n);

if (n<=100)
{ 0.1
kai2[n]=kai2[n]+1;
0.05
}
} 00 2 4 6 8 1‘0 12
goooooo 2000
for(j1=0;j1<=100; j1++){ 03 T T T T T —
delta = (10.0 * kai2[j1])/L ; 025

printf ("%f\t%f\n",0.1%j1+0.05,delta);

02-5

} f
return(0) ; 015

b |
Jo000000b00ooo0o0bOOoooO0nooon 20000000 o1l
goooooo. |

#include <stdio.h> 0.05 [ \ )
#include <math.h> \”\/\,,mv -
#define Pi 3.141592653589793 o . . . LTV
0 2 4 6 8 10 12
main() jobDopoooooobooo
{
int j1; gdoodoooooobDooooo.
double x,y; 4 O0on
for(j1=0;j1<=100; j1++) ooo0o0o0ooooboo0oO00 20000000000,000
{ 00oo00ooDO0,000000000000 200000000
x = 0.1 * j1 + 0.05; Jd020000000000000.0000000000O00O
y = (1.0/sqrt(2*Pi))*pow(x,1.0/2.0)*exp(-x/2.0); Jo000000D02000000000000000O0OO0O0O0O
printf ("%£\t%f\n",x,y); jddooO0o0oDoDbOO0o00oDoDoO00.0ooooooooo
} gooo0ooo0oooOoDOooDOooDooO,D0D0D0OooOooD0Ooon
jodoooooDoDoOOoOoooDoD.oopo0ooooooooo
return(0); JjdoOoobOOoobOdoodooOoooooboOoobooooooo
} jooopooooDO0ooDoOoooOoDoooDoooon.
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